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>>a=[1 2 Nan inf nan]
>>p=2%a >> ¢ =sqrt (a)
= C =
2 4 NaN Inf NaN 1 1.4 NaN Inf NaN
>>d = (a==Nan) >> f = (a~=Nan)
= f=
0 0 0 0 0 1 1 1 1 1
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>> a=[nan 4.1 2.3 [ >> b=isnan(a(;,1)) |>> >> c=a(m(:))

nan 5.2 7 5]' >> m=—isnan(a(-, 1)) | ¢=a()) |c=

a= b= m = c= 4.10
NaN 1 0 NaN 2.30
4.10 0 1 NaN 5.20
2.30 0 1 7.00
NaN 1 0 5.00
5.20 0 1
7.00 0 1
5.00 0 1
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>> m=mean(a) >> p=~isnan(a)
m= b=
NaN 0
>> p=isnan(a) 1
b= 1
1 0
0 1
0 1
1 1
0 >> me=mean(a(b,1))
0 me =
0 4.72
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>> c=a-mean(a) >> c=a-me

c= c=
NaN NaN
NaN -0.62
NaN -2.42
NaN NaN
NaN 0.48
NaN 2.28
NaN 0.28
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A=[NaN 2;3 NaN]
A(isnan(A))=0
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A=
0 0 0
3.79 3.73 3.85
17.34 17.24 17.44
1.88 1.90 1.83
| >> C=nnz(A)
C=
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>> X=numel (A)

X =

12
>>Y=X-C
Y =

3
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>> nonzeros (a)
ans =
33.5751
25.2929
39.1636
97.7806
28.4135

23.8843
34.8636



36.3593
10.2600
22.0297
60.2282
22.7686
21.0857
50.9197
23.2080
17.8924
46.8811
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